Supplementary Table 1: Steel–Dwass test for Figure 3A 
	

Days
	p-values

	
	Drought
	Well irrigated

	
	Control
With
ICL-SW
	Control
With
ICL-NewFo1
	ICL-SW
With
ICL-NewFo1
	Control
With
ICL-SW
	Control
With
ICL-NewFo1
	ICL-SW
With
ICL-NewFo1

	1 – 7 
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	8
	p>0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p<0.05

	9
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	10
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	11
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	12
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	13
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	14
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	15
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	16
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	17
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	18
	p>0.05
	p>0.05
	p>0.05
	p<0.05
	p>0.05
	p>0.05

	19 – 36 
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05




Supplementary Table 2: Steel–Dwass test for Figure 3B 
	

Days
	p-values

	
	Drought

	
	Control
With
ICL-SW
	Control
With
ICL-NewFo1
	ICL-SW
With
ICL-NewFo1

	1 – 36
	p>0.05
	p>0.05
	p>0.05










Supplementary Table 3: Steel–Dwass test for Figure 3D	 	
	

Time (h)
	p-values

	
	Drought
	Well irrigated

	
	Control
With
ICL-SW
	Control
With
ICL-NewFo1
	ICL-SW
With
ICL-NewFo1
	Control
With
ICL-SW
	Control
With
ICL-NewFo1
	ICL-SW
With
ICL-NewFo1

	0600
	p>0.05
	p>0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05

	0700
	p<0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05

	0800
	p>0.05
	p>0.05
	p>0.05
	p<0.05
	p>0.05
	p>0.05

	0900
	p>0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p>0.05

	1000
	p>0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p>0.05

	1100
	p>0.05
	p>0.05
	p>0.05
	p<0.05
	p>0.05
	p>0.05

	1200
	p<0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p>0.05

	1300
	p<0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p>0.05

	1400
	p<0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p>0.05

	1500
	p<0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p>0.05

	1600
	p<0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p>0.05

	1700
	p>0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p<0.05

	1800
	p<0.05
	p>0.05
	p<0.05
	p<0.05
	p>0.05
	p<0.05

	1900
	p>0.05
	p>0.05
	p>0.05
	p<0.05
	p>0.05
	p<0.05


	 	
Supplementary Table 4: Steel–Dwass test for Figure 4A 
	

Days
	p-values

	
	Drought
	Well irrigated

	
	Control
With
ICL-SW
	Control
With
ICL-NewFo1
	ICL-SW
With
ICL-NewFo1
	Control
With
ICL-SW
	Control
With
ICL-NewFo1
	ICL-SW
With
ICL-NewFo1

	1 – 36
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05
	p>0.05






Supplementary Table 5: White test for Figure 4C. [image: ]
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[image: ]Supplementary Table 6: White test for Figure 6B
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[image: ]Supplementary Table 7: White test for Supplementary Figure 6.
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Supplementary Table 8: White test for Supplementary Figure 7. 
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image5.emf
Well irrigated plants

Variable ObservationsObs. with missing data Obs. without missing dataMinimumMaximum Mean Std. deviation

Calculated Plant Weight 28 0 28 233.490 1018.100573.833 226.144

Total Plant Dry Weight-Residuals 28 0 28 -10.374 10.874 0.000 5.215

White test:

LM (Observed value) 1.673

LM (Critical value) 5.991

DF 2

p-value (Two-tailed) 0.433

alpha 0.05

Test interpretation:

H0: Residuals are homoscedastic

Ha: Residuals are heteroscedastic

As the computed p-value is greater than the significance level alpha=0.05, one cannot reject the null hypothesis H0.


image6.emf
Drought stressed plants

Variable ObservationsObs. with missing data Obs. without missing dataMinimumMaximum Mean Std. deviation

Calculated Plant Weight 30 0 30 165.760 529.170331.337 81.923

Total Plant Dry Weight-Residuals 30 0 30 -7.915 10.311 0.000 4.260

White test:

LM (Observed value) 1.969

LM (Critical value) 5.991

DF 2

p-value (Two-tailed) 0.374

alpha 0.05

Test interpretation:

H0: Residuals are homoscedastic

Ha: Residuals are heteroscedastic

As the computed p-value is greater than the significance level alpha=0.05, one cannot reject the null hypothesis H0.


image7.emf
Variable ObservationsObs. with missing data Obs. without missing dataMinimumMaximum Mean Std. deviation

Fresh shoot weight 67 0 67 54.872 482.328234.788 115.182

Shoot Dry Weight-Residuals 67 0 67 -13.394 15.092 0.000 6.176

White test:

LM (Observed value) 14.943

LM (Critical value) 5.991

DF 2

p-value (Two-tailed) 0.001

alpha 0.05

Test interpretation:

H0: Residuals are homoscedastic

Ha: Residuals are heteroscedastic

As the computed p-value is lower than the significance level alpha=0.05, one should reject the null hypothesis H0, and accept the alternative hypothesis Ha.


image1.emf
Well irrigated plants

Variable ObservationsObs. with missing data Obs. without missing dataMinimumMaximum Mean Std. deviation

Cumulative daily transpiration 34 0 3410259.03020158.15015534.330 2615.338

Shoot Dry Weight-Residuals 34 0 34 -9.165 6.563 0.000 3.975

White test:

LM (Observed value) 4.351

LM (Critical value) 5.991

DF 2

p-value (Two-tailed) 0.114

alpha 0.05

Test interpretation:

H0: Residuals are homoscedastic

Ha: Residuals are heteroscedastic

As the computed p-value is greater than the significance level alpha=0.05, one cannot reject the null hypothesis H0.


image2.emf
Drought stressed plants

Variable ObservationsObs. with missing data Obs. without missing dataMinimumMaximum Mean Std. deviation

Cumulative daily transpiration 33 0 33 5618.39010519.0908579.010 1147.022

Shoot Dry Weight-Residuals 33 0 33 -4.030 4.083 0.000 1.697

White test:

LM (Observed value) 4.834

LM (Critical value) 5.991

DF 2

p-value (Two-tailed) 0.089

alpha 0.05

Test interpretation:

H0: Residuals are homoscedastic

Ha: Residuals are heteroscedastic

As the computed p-value is greater than the significance level alpha=0.05, one cannot reject the null hypothesis H0.


image3.emf
Well irrigated plants

Variable ObservationsObs. with missing data Obs. without missing dataMinimumMaximum Mean Std. deviation

Cumulative daily transpiration 34 0 3410259.03020158.15015534.330 2615.338

Total Fruit Number-Residuals 34 0 34 -3.119 3.847 0.000 2.025

White test:

LM (Observed value) 2.172

LM (Critical value) 5.991

DF 2

p-value (Two-tailed) 0.338

alpha 0.05

Test interpretation:

H0: Residuals are homoscedastic

Ha: Residuals are heteroscedastic

As the computed p-value is greater than the significance level alpha=0.05, one cannot reject the null hypothesis H0.


image4.emf
Drought stressed plants

Variable ObservationsObs. with missing data Obs. without missing dataMinimumMaximum Mean Std. deviation

Cumulative daily transpiration 33 0 33 5618.39010519.0908579.010 1147.022

Total Fruit Number-Residuals 33 0 33 -4.606 3.911 0.000 2.201

White test:

LM (Observed value) 2.873

LM (Critical value) 5.991

DF 2

p-value (Two-tailed) 0.238

alpha 0.05

Test interpretation:

H0: Residuals are homoscedastic

Ha: Residuals are heteroscedastic

As the computed p-value is greater than the significance level alpha=0.05, one cannot reject the null hypothesis H0.


